
	

1)  CE-99001B..................................................36” Antirock® Bar
1)  CE-9900JK-MSK........................................Mounting Brackets (Steel)
or CE-9900JK-MAK........................................Mounting Brackets (Aluminum)
2)  CE-99003-JK...............................................Antirock® Steel Arms
or  CE-99003-JKA............................................Antirock® Aluminum Arms
2)  CE-9901D....................................................Antirock® Bushings
2)  EE-3212CH8...............................................5/16”-24 x ¾” Bolts
2)  EE-3120WFZY............................................5/16” Washer
2)  EE-62WS......................................................5/16” Lock Washer

Required Tools
- Complete set of hand tools.

Instructions

1) Remove the front factory anti sway bar and 
     links.
2) Install one of the Antirock® mounts using the 
     factory hardware.
3) Slide the Antirock® bar through the  previously 
     installed mount.
4) Install the second mount using factory hardware 
     and slide the bar through.
5) Next install the Antirock® arms by using 
       the supplied hardware. Make sure that the 
     arms are “clocked” the same. Rotate the 
     arms before attaching the links to ensure 
     proper clearance.
6) Install the supplied links.
7) Refer to the adjustment instructions 
     on the next page.

Kit Includes
2)  EE-3840CH8...............................................3/8”-24 X 2 ½” Bolt
2)  EE-38NS.......................................................3/8”-24 Nylock Nut
2)  EE-991050..................................................Sway Bar End Link Rod
2)  CE-99006.....................................................Sway Bar End Link Rod End (RH)
2)  CE-99006L..................................................Sway Bar End Link Rod End (LH)
4)  EE-51NS.......................................................½”-20 Nyock Nut
2)  EE-51NF.......................................................½”-20 Jam Nuts (RH Thread)
2)  EE-51NFLHP...............................................½”-20 Jam Nuts (LH Thread)

Fits
- All models of 2007 & up Jeep JK Wrangler




